Efficiency vs P,

~ 0.5
o

T SRITITITEY LTI
> E
N SRR EER R T SIS
) o
o F
E 007:_ """"""""""""""""""""""""""
o F
O IR SITEE TENS SRR
0.05 -+ eeeeeeeeoe bk Fhoorrnnens
0.04F -+ o | R RRREe
oocf-- I ER
0.02F -+t froeenedenns N B B T
O RRRACE SITIRN [ S SSPRRSE
A vnd v nd bl
o +WF .
T E 3
@ i R EEEEEE +t -1 P T
0,955— -------- _‘, A (Lo

=
o@
N

1 10 . Gedf’

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles113
—+— DQM_CKF_TT_retrainOldFiles125_v2

- 0.2
lg r
2 0.18F
LC) r
$0.16F
(8] L
£0.14F
(]
0.12F
0.1
0.08F
0.06F
0.04F
0.02
1.0

Ratio

[y

0.95

|
[T

Efficiency vs ¢

o 0.1-
o
>‘0.09 ;
2 ]
$0.08 :
o .
£0.07E
o :

0.06F

o
¢ o
N
IRRRRAN

g
+

Ratio
=

0.9+

0.8

0 I 11
1H 4 3 +
2 3




	Contents
	Page 1


